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Intro

Today we will 7”v1a learn 1’0 97 of ©nat nooN
Some of the topics we will learn about include.

The Gemara discusses the following questions regarding
Pl

1.

53731 85w 5N

7993 W RS IR 799 7w

If a Kohen transferred the n7w *55 with the blood to the
mam without actually walking, is this 7957 considered a
valid 772y or not.

2.
And if we are to assume
7951 Inw RS

PN TWoR

ANPNY TWOR R IR

Can one redo the 157 and remove the %109 by returning
the n7w "5 to its first location, and then perform a proper
1951 with walking, OR one cannot redo the m7o5m?

The Machlokes regarding

in=ARxianii N

[eReintiiial!

If first a 7 performed %372 705 on a n7w °>> and then a
Kohen returned the nw "9 to its first location and he
redid the 7297, is the Korban Kosher OR Pasul?

The discussion regarding

IONRY I8

If the nw "S> was moved away from the nain», whether a
second 1951 is required to return the 7w *53 to the nam,
and therefore can cause the Korban to become Pasul.
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N9 NNHWY
N9 NNW KXY IN

NNIPNY TWDNR
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1221 T
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So, let's review ...

The Gemara poses the following question regarding mo5m:
MO RVIR

5372 RYW MOHIN

79997 7w RS IR 7997 W

If a Kohen transferred the n7w 'S5 with the blood to the
nam without walking; he merely hands it further;

Is this 7297 considered a valid 7712 or not?

As Rashi explains this question applies to the following:
1.

APWS ROV 11997

According to the 1327 who hold

WY RHW 1997

909

The question is;

If a Kohen performed this mmw5 5w %372 k5w 797, is this
considered an 772y and the Korban becomes Pasul or not?
2.

ale=Ra=pin]

According to the opinion that

glela=pin]

pilel

The question is;

If a 7 performed 19,7 without walking, does the Korban
become Pasul or not?

3,

[ne=kepin!

Rashi later explains that this question applies even to
i=sh=ri!

If a Kohen performed 1o without walking;

Is this 12 valid and the Korban remains Kosher, OR the
1M1 is not valid, and the Korban becomes Pasul, because
An2579 Xow WYl

The blood was transferred with an improper 7712. ®

The Gemara concludes

13 "R RO DR

5372 XYW N

19937 W RS

And therefore, in all cases of %372 Xb>w 7195117 the Korban
becomes Pasul, because

1195779 RHW WYl

However, the Gemara inquires

IRPNS TWOR

ANPNY TWOR R IX

Can one rectify this problem and remove the 5109 by
returning the N *50 to its first location and re-doing the
m95 properly with walking?

OR

One cannot rectify this %100 by re-doing the no%n?

After some discussion the Gemara concludes that
1Y 'R RO says

5372 RYW 710

909

Which implies that

APNS TWOR RS
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P/ Eryok

5292 XYW NOHN
NOIN NMNWYW XY IR NOMN NNW

If a Kohen transferred the mw 15> with the blood
to the natn without walking;
he merely hands it further;
Is this nabn considered a valid nmav or not?

Ay Rashis explainy
this question applies o the following:
2 L

213 Do510 ONED HOE DD

/Fccor/m?/ ty the opinion According to the 75 who hold

213 09510 ONED HOE DO5D
ol el foblel>)
Zﬁw % W/Zrme/ 2/ I% @ /(o/wn//mf/aww/ thiy
without wa[%m?/, Wt/ £/l [ £ 2045,
does the Korban become i thiy considered an >3y

Pusi or nat? and the Kopban iy Pasul?
3

1993 D00
Z/w Koémper red 2/ without m/(%m?/
Ty thiss 3y valid and the Korban remainy Kosher,

Or the >3y s not valid,

and the Korban becomes Pasul, because
DDHO5DD HOE HIEW)
The blood way transferred with an impraper >33y,

A
IVt hy WE
5392 R5W NOHN
1990 NNW XY

And therefore, in all cases of 5212 Rbw nobin
the Korban becomes Pasul, because

NNobno R Mwwd

Pe

NNpPNY IWDR
NNPNY TIWDR XY R

Can one rectify this problem and remove the 5o
by returning the mw 5> to its first location
and re-doing the nobn properly with walking?

v
Y E t[?
5292 XYW NOHN

n0D
Which implies that

NIPND IWON RO
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The Gemara proceeds and attempts to say that

5371 X5W 1997

1327 PYPW 227 NP

The question of whether a o911 without walking is a valid
172 depends on the Machlokes in our Mishnah regard-
ing

WS ROV 71997

P19 1337

PWIOL PYRW 1IN

The Gemara initially assumes that there is no Machlokes
N33 1952

Which means

531271990

If the npwS RHw 9917 was done with walking, even 23
ponw agrees that the Korban becomes Pasul, because this
mo5nis a valid n7ay.

The Machlokes is only

TIOR 199172

Which means

5372 RH>w M5

If the mwh RHw 195 was done without walking:

The 11271 hold that the Korban becomes Pasul, because they
hold

5372 RSW N

o9 W

This 1o is a valid 772 and can cause the Korban to
become Pasul.

While py»w 227 holds the Korban remains Kosher,
because he holds

5372 RSW N

799171 W KD

This 7951 is not a valid 772Y and cannot cause the Korban
to become Pasul.

DafHachaim.org

9272 RO5W NOHN
1227 PYNW 227 NN

The question of whether a n>5n without walking
is avalid nmay
depends on the Machlokes regarding

NNWYWY XYW NOMN
//}7/4 7~y IR
TWON 1°>01D

)

"2 NOYIN2

5272 ndhin
If the npw) R5w nd5n was done with walking,
even pupw 1) agrees that the Korban becomes Pasul,
because this nobn is a valid nTav.

The Wachlokes is Wbl%/
TMIVIT NOMIN2
Which means
5372 Rbw nobin

If the npw) N5w ndDn was done without walking:

S Dy I
IPWON Y01

because he holdy
5372 Nbw nobhin
M50 mpw N

This na5n is not a valid

MY and cannot cause N and can cause

the Korban to become the Korban to become
Pasul. Pasul.

5372 NSw nobin
nobhin mow
Thisno5n is a valid
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However, the Gemara brings proof otherwise, that their
Machlokes is only in a case of

5372 7o

Because the Mishnah explains

PWOn PYPW °17 because

T KD TWOR

P NN TR VMY

Which implies that their Machlokes is only when there
was a distance to the man and %372 7957 was required.

Therefore, the Gemara concludes that there is no
Machlokes regarding

5373 ROW 75N

And even jynw *27 agrees that

1509 MW RYW

Because

1HV2Y TWONR N7

Since this 79971 cannot be eliminated, it is considered a
valid nmay.

And the Machlokes is only regarding
P anhepin]

The 1237 hold

o9

And even though n5va5 Jwor

Y N

While vwon ponw 129
Because since 75015 TwoR
7712Y MRS

DafHachaim.org

oY

9272 NN
As the Mishnah explains
VYWOD VPR 12)
because
50 852 YWOR

PO N2TPN TX] DNIY

Which implies that their Machlokes is only
when there was a distance to thenam
and 5212 b was required.

v
Therefore, the Gemara concludes

that there is no Machlokes regarding

9292 XYW NOYIN

And even wpw 1) agrees that

N5po NpPwb NdHw

Because

1bpab YwoN NT
Since this no5n cannot be eliminated,
it is considered a valid nTap.

. 4
And the Wachlobes iy onﬁ;/ re?ar/m?/
93292 NOYIN
S ) =Y
PPVWON palelo)

And even though n5»25 ywoN
NT2D NN
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The Gemara proceeds with a 'Ry "1 X7 27712 npbnnina
case of

nEARkiamRiEein!

129 N

Ifa 71 first performed %372 71957 and a j72 then returned the
MW > to its previous location and the j12 redid the 755

IR TN

Riv]

NP5 TWOR

The Korban is Kosher, because one can remove the 5109
by re-doing the 5.

AR TN

pileh)

PNy JWOR RS

The Korban is Pasul, because one cannot remove the 5109
by re-doing the .

The Gemara mentions another case in the reverse:
TP 21991

R R ia]

If a Kohen first performed a valid %372 1957 and he
returned the n7w *53 to its previous location and then a
redid the 7o»7;

"WR 72°»°W 17 says it depends on the previous Machlokes,
as follows:

PWINT 2T

5109

pielbh e )

PWIN

According to the opinion of npn5 YwoR, we always go
with the second nobi. Therefore, in this case it's 5109,
because the second 7o was 912 7950,

While according to the opinion of inpnb Jwor > we
always go with the first mo%n. Therefore, in this case it’s
7w> because the second 1957 was 732 795,

N17 disagrees and says

5109 501977771279 98

TIONRY PIX RAT

Even according to the opinion of 11PN JwoR XY in this
case it's Pasul, because since the nw > was moved away
from the nam, a second 19917 is required to return it to the
nam. Therefore, here we do go with the second 71091
which is 72 195,

%) - o P jpﬁ/’)/ﬁ//
11 19TNN T 120N
12999 T

If ar first performed 5272 no5n
and a)n> then returned the nw > to its location
and the)n> redid the nab;

WE 3h
pile}s)

W 3h
gl

NPNY IWDKR XY NNPNY TWDR

The Korban is Pasul,
because one cannot
remove the 5po
by re-doing the nobn.

The Korban is Kosher,
because one can
remove the 5po

by re-doing the nobn.

1NN 1N 129N
97 19999 TM

If a Kohen first performed a valid 5312 025
and he returned the nw 1> to its previous location
and then a“r redid the nabn;

G p pl >
It depends on the previous Machlokes,

90191 1277
WON
While according to the

opinion of N1pnd IWONR N>

we always go with the
first nobn.

Therefore, in this case it’s

> because the second
N25n was jna2 N,

TPWONN M2ATH
pile}s)

According to the
opinion of nN1pnb IWoN,
we always go with the

second nadn.
Therefore, it is 5D,
because the second
no5n wasma nodn.

10D H01DN M2TH R
NMOVHPKRY PR RNT

Even according to the opinion of napnb IWoN N5
in this case it's Pasul,
because since the mw 15> was moved away from the nam,
a second ndbn is required to return it to the nam.

Therefore, here we do go with the second nabin
which is 312 no5n.

DafHachaim.org
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The Gemara proceeds and attempts to say

TONRY IR

1329 MYHOR 723 NpIomn

The question of when a second no%1 is needed; whether
it's considered a necessary no>11 and the Korban would
become Pasul; is the Machlokes in our Mishnah:

The 1327 hold

WY RO 1990

500

While 71058 '29 says it depends:

1575 I3 RITW OIpa oI

noo® mawnn

If the no%n was needed, the Korban becomes Pasul

7515 I3 IPRY DIpP3
o0 TAWNM PR
If the o577 was not needed, the Korban remains Kosher.

The Gemara initially assumes that there is no Machlokes
where

019210730 PIN2 3P

Por5 TRW PN

Ifthe blood was received far from the nam and it was
carried closer to the nam, that is certainly a necessary
199171 and the Korban would become Pasul.

And there is also no Machlokes where

VIR 0192193p

1515 7% PRY PN

If the n5ap was near the n2m» and it was then carried away
from the mam, that is certainly not a necessary 715911 and
the Korban remains Kosher.

DafHachaim.org

NMOVNKRY PN
1227 TYHR 227 NPIYNN

The question of when a second na5 is needed;
whether it’s considered a necessary nobn
and the Korban would become Pasul;
is the Machlokes in our Mishnah:

Y
MY R5>W NOHN
0D

7)7% »)
mpn2 NN PN PHINN
A% PWIIORY  PONY PN XINWY
NnY01D NAWNN PR NYOID NAWNN

If the no5n was not needed, If thenobn was needed,
the Korban remains Kosher.  the Korban becomes Pasul

v
The Gemara initially assumey that
there it no Wachlokes where

0°1D210°10M YIN2192p
1o0H PINY PYNINT

Ifthe blood was received far from the nam
and it was carried closer to the nam,
that is certainly a necessary no5n
and the Korban would become Pasul.

v
And there it albo no Wachlokes where

PIND RIIM 02192 192p
1o0Y PN PRY NNt

Ifthe nbap was near the nam
and it was then carried away from the nam,
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The Machlokes is only where

NI WM IOV

If the o7 was first carried toward the nam and then away
from the 2, and then the Kohen did a second 71097
toward the nam which was nwH RHw;

The 11271 hold the Korban becomes Pasul, because
TMIONRD TIARNA
This 1557 was necessary to return the 07 to the nam.

While 71»°5x *27 holds the Korban remains Kosher,
because

MT ATAYS PIZA P IRS

This 155 is not considered a necessary Avodah, because
the o7 was already carried to the nam.

The Gemara however brings proof otherwise from a
Braisa that 71YYx '27 agrees with the 13127 and holds
ety

RI7 oM TIY N

That this 1257 is considered a necessary Avodah;
And as Rashi explains there is no Machlokes between 17
7Y5R and the 1127 in this matter;

TtYHX 27 merely argues with his father py»w 113 who
holds that in all cases

WS ROV 71997

s

Because, since

1SV WOR

19917 is always not considered a necessary Avodah.

While 7tv5x *27 holds that it depends, and

1515 7% RITW DIpPR2 PIn

5109 InwH RHW

Even though it was 15025 9woK, but since it is now needed,
this mo% is considered a necessary Avodah.

DR Y oY 1T

We have B“h completed the first Perek of o'nar noon and
will begin the second Perek 1»7152pw £'naii 53 in the next
Shiur, B’ezras Hashem.

DafHachaim.org

v
WWMM&%KA/W@/WW@
IRININ TN 1022D0NVWD

Ifthe DT was first carried toward the namn
and then away from the nam,
and the Kohen did a second n>5n toward the narn
which was nowb Rbw;
S ) Y

TVON nJ10D

-Y' -Y
PIND PHND IND IN RN

WT NTIAVD MIDHNRD
This no5n was necessary
to return the T
to the nam.

X

The Gemara however M%& /}mo% otherwise
%/‘0% @ Braisa that

TY5N 127 agrees with thep

10220M TN
RN 79N PIRW PN
This nobn is considered a necessary Avodah;
And as Rashic explaingy
there i no Wachlokes between y/é » and the /Y
i this maiter,
y/é P W@Z?/ WW with M/af/ber S

Wé » holdy e ) holdy
that it depends, and that inall cases
0N D5
7905 95 MIOE O3 oPEd POE
S1PD ONED HEE “Eo
Fven z‘/wu?/u it wads 1165 o,
but since it 4 now needed,
this 2o/ it considered
w M%Wyz/ﬂ/ﬁ/@/u

Because, since /i) 0o
bSY/oW/% w&my&

not considered
% Wyx/ﬂ/&/du

Dra 5 Y 19T
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